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-2 EAD| 9,275,000&  1CH 9,275
—=SEXEI (A FPL) 7,909,000& * 1CH 7,909
-220IEsEIN(2E3F)
2,500,000& =+ 1CH 2,500
-L 20| s ACE2I (8X}) 320,000& » BMIE 1,920
-SRAXUBSE) 1,000,000& * 3& = 304 9,000
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AN sg€II=4dH
My =E0NS4 U s52J2 23
&2 JAHE sk (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-HE&8 30 150,000& * 3CH 450
[SE=F<Epl 150,000 * 20K 300
SIH =32 W 78,380 71,180 7,200
201 Let249] 23,980 16,080 7,900
01 At 22l 8,200 3,600 4,600
OsJIA =3us 23 AHAD ol 2=H
4,000& = 2,000% 8,000
OsJIH 8F018 Jlgns 2SME
50,000& = 43| 200
02 =24l 3,780 480 3,300
OFESHRS 40,0003 = 123 480
OsJIH&Esns g TMH(ehe)
3,300,000& « 1CH 3,300
03 &Ar2 I 12,000 12,000 0
O=8=240| ¢tdALD ole W=l
200,000& = 604H 12,000
206 M= Hl 52,900 55,100 A2,200
01 M= 4l 52,900 55,100 A 2,200
Os21H =3lu=s 52,900
-=3lus 2E(SRL2I 2 98)
35,000, 000& 35,000
SURE FER(UILY 9 3F)
8,000,000& 8,000
-3 uE 37 800,000& * 3% 2,400
-28E 2 A3 PE(LUHAY =g
250,000& = 108 32/ 7,500
405 XHoHF S HI 1,500 0 1,500
01 AL EZFH S 1,500 0 1,500
OLESZFH(8ZLUS MMUZERNYHESR)
1,500,000& * 1CH 1,500
SO At N E AL 6,800 0 6,800
= 3,400
s 3,400
206 M= Hl 6,800 0 6,800
= 3,400
s 3,400
01 M= 4l 6,800 0 6,800
OsgllAetdn=E 6,800,000& 6,800
= 3,400
s 3,400
SEsd=s N 415,978 323,444 92,534
= 27,000
e 388,978
eSS I=XS 54,000 19,400 34,600
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AN sg€II=4dH
My =E0NS4 U s52J2 23
Sel: SRS N CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 27,000
s 27,000
101 @144 dl 18,000 18,000 0
= 9,000
s 9,000
04 JIZHHZ2XREES 18,000 18,000 0
OELZTA 2 QAU (AMIIEE J22E3
Z8) 18,000, 000& 18,000
= 9,000
e 9,000
405 XHoHF S HI 36,000 0 36,000
= 18,000
s 18,000
01 AL EZFH S 36,000 0 36,000
Olt=tetd=s)I==22 &l 2L
36,000,000& 36,000
= 18,000
s 18,000
SE=SEE 29 160,734 138,374 22,360
101 @124 Hl 54,054 44,194 9,860
04 JIZHHZ22XEES 54,054 44,194 9,860
OISR 2ol 2Ry 54,054
=0 54,600& = 5% * 180¢ 49,140
-ALBIE™ JI2EE S 49,140,000& * 10% 4,914
201 L2l 46,500 46,500 0
02 23224l 46,500 46,500 0
OZE=E2d e Azl
1,500& = 100L » 3CH » 50 22,500
O3E8=2% FHRXH 4,000,000& * 65 24,000
202 (4l 7,680 7,680 0
01 = LH A b 7,680 7,680 0
O HRF=A Ml 7,680,000 7,680
206 M= Hl 40,000 40,000 0
01 M= 4l 40,000 40,000 0
O3E=sRE 2=
4,000,000& = 58 * 23| 40,000
401 A& HIZ 201 I 9,500 0 9,500
01 A& HI 9,500 0 9,500
SEFEY g35Y 4 9,500,000& 9,500
405 RH&HE S HI 3,000 0 3,000
01 AL EFSFHSHI 3,000 0 3,000
Ozaasd=g)l 1,000,000& =+ 3% 3,000




AN sg€II=4dH
M sEoESM U Sz 22
Sel: SEHNS XS (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o2 29 47,811 25,390 22,421
101 @14 Hl 10,811 8,840 1,971
04 JIZHHZ2XNEE S 10,811 8,840 1,971
Oxclad 2ele=2gy 10,811
=0 54,6003 * 1H = 180¢ 9,828
-ALEEE JI2EES 9,828,000& = 10% 983
201 LBH2E | 8,000 5,050 2,950
01 At 2t 2l 1,000 1,000 0
OunF3zE 888 HE 200,000& * 5& 1,000
02 232gHl 6,000 4,050 1,950
ORcled FHlKAbl 1,200,000& = 58 6,000
03 & Ar2 Z I 1,000 0 1,000
ORFEEFH DF3E dAS
1,000,000 * 14 1,000
206 M= Hl 12,500 11,500 1,000
01 =8l 12,500 11,500 1,000
Oscled 28z 12,500
=PADN =N = DY = 12,500, 000& 12,500
401 Al HIZK 201 I 12,000 0 12,000
01 A& HI 12,000 0 12,000
Oscl24a Adiid 12,000, 000& 12,000
405 RHoHE S HI 4,500 0 4,500
01 AL ESFHSHI 4,500 0 4,500
O30l 300,000& = 108 3,000
O& gt 500,000& * 33 1,500
A3SEZ 2g 30,811 33,940 A3,129
101 14 Hl 10,811 8,840 1,971
04 JIZtHZ22XEES 10,811 8,840 1,971
OaZE &2 10,811
=0 54,6003 * 1H = 180 9,828
-ALB 2™ JI2EE S 9,828,000& » 10% 983
201 LBt 6,000 7,100 21,100
02 2324l 6,000 6,000 0
O&aSE ANLEH | 600,000& * 108 6,000
206 = Hl 3,000 0 3,000
01 =8l 3,000 0 3,000
OASE2ZE M=l 3,000,000& 3,000
207 A& H| 10,000 18,000 A 8,000
03 Al & 11 HI 10,000 18,000 A 8,000
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A== S9(3H) - NEAY - BaS ﬁlf& HD=2
-=A & JIEtARAE XM
10,000,000& = 23| 20,000
DME XFAND(FHINLSELSA) 350,000 670, 320,000
Jl 210,000
= 140,000
A 2 HEHS AIY 350,000 330, 20,000
Dl 210,000
= 140,000
206 M = dl 140,000 130, 10,000
Jl 84,000
= 56,000
01 & bl 140,000 130, 10,000
O0|MZ2 K 2 110,000, 000& 110,000
Dl 67,000
iy 43,000
Oo|ME Z&EIH 2 30,000, 000& 30,000
Jl 17,000
= 13,000
405 XHabF SHI 210,000 200, 10,000
J| 126,000
= 84,000
01 A&t = S F SHI 210,000 200, 10,000
ODIMES HHII(20) & SHAIA
190,000, 000& 190,000
J| 114,000
= 76,000
OLNEIME ZHD| 20,000, 000& 20,000
Jl 12,000
= 8,000
HHSHALH (sLII=HH) 68,082 101, N 33,420
Jl2dH(sYlI=4dH) 68,082 101, N 33,420
Jl23Hl 68,082 101, N 33,420
201 Bt A | 50,582 51, A510
01 AtSR 22l ] 44,970 45, AB610
Ogst=2H| 7,500,000 7,500
O3l 7,930,000& 7,930
oY - =2 18,060, 000& 18,060
O=SA| &Xxt& 330,000& * 1CH * 12& 3,960
O™ EH A2EFRH| 7,520
- Zel gD 3,000
- EY 200,000& * 3CH ~ 4= * 13 2,400
S 200,000& = 3CH = 13 600
-8t el | 200,000 * 8CH * 23] 3,200
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AN seIIsHE
H: HH2IAH(sLII=4H)

Eel: D23 (sYIsdH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-SAD (EH 2 E8)
200,000& = 204 = 33l 1,200
-FAX EU 120,000& = 104 = 13l 120
02 2324l 5,612 5,512 100
033232 ¢ HA(RER23) 1,800,000 1,800
OdHFEH KRAE=HI 3,812
-GS AR 171 1,200,000 * 40CH * 5% 2,400
== Pl 4,000,000& = 10CH = 2% 800
-5 AHJ| 15,000,000& * 2CH * 2% 600
—FAX 600,000& = 108 = 2% 12
202 Odl 4,800 4,800 0
01 = LH o4 1l 4,800 4,800 0
O2Z g2 Ad2FA ol 4,800,000& 4,800
203 YR =2l 8,700 8,660 40
01 JI122L =AY 3,300 3,300 0
OJ22HERFIHI(2FE)
275,000& = 1% = 128 3,300
02 It =&Y 1,200 1,160 40
OXFZ AHJI& & A Y| 40,0004 = 309 1,200
04 FN2ELRZ=TH| 4,200 4,200 0
ORNM2Y gRF2HI 350,000& = 12& 4,200
405 TtatF S| 4,000 36,950 A 32,950
01 AL EFHSHI 4,000 36,950 A 32,950
OUIIsAIRI1I] &7 7
1,300,000 * 2CH 2,600
OZelEIl 2L (a7, iA) 700,000& = 204 1,400
HRaes(sdllsddH) 140,000 266,000 A 126,000
UWRAHAXE(sIIsdH) 140,000 266,000 A 126,000
=HNLEELIH HES 140,000 266,000 A 126,000
701 JIEtSI HEHES 140,000 266,000 A 126,000
01 JIEtSIHE &3 140,000 266,000 A 126,000
ORgFBelA SYBHE ALY
140,000, 000& 140,000
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